50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal ¢ross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or £quations written eg, 42+8
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Time: 3 hrs. Ny . Max. Marks: 80
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,\\smg ONE full questtonyrym each module.

What are machine tools? Brleﬂy xplam the types of Lathe: (08 Marks)
Differentiate any 8 differen¢es between centre, turret and capstan lathes. (08 Marks)
; OR
What is milling? Explain horizontal spindle colum Vand knee type milling machine.
(08 Marks)
Define GrindingsWith a neat sketch explai ”ﬂ,centreless grinding machine. (08 Marks)

‘
Module-2

&

What machining operations can beiperrformed on Lathe, explain any 4 with neat sketch.

i, ) (08 Marks)
Explain with a neat sketch, the process of
(i) Broaching (i) Grinding
(iii) Tapping _(iv). Threading (08 Marks)
o
With a neat sketch.explain :
(i) Form milli (ii) Slot milling®
(iii) Gang mill (iv) Angular milling @ (08 Marks)
With a neat sketch explain any 4 operations that cani'be performed on Drilling machine.
‘ / (08 Marks)
Module-3¢
List and explain any four types of cutting too] ‘materials. (08 Marks)
#“What are cutting fluids; list the functlons and types of cutting fluids. (08 Marks)
Briefly explam the terms and Angles(’of a single point cutting tool. (08 Marks)
What is surface finish? Llst and discuss the factors affecting surface finish. (08 Marks)
Module-4
With a neat sketch, compare between Oblique and Orthogonal cutting. (08 Marks)
With a neat dlagram explain the Basic elements of machining. Explain two different types
of chip formatron (08 Marks)
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OR

8 a. By the help of Merchant’s circle diagram derive expx;essmns to calculate all forces.

10

b.

£

(08 Marks)
In an orthogonal cutting process the following data were obtained:
Chip length obtained = 96 mm “Uncut chip length = 240 mm
Rake angle used =20° Depth of cut = 0.6 mm
Horizontal component of cutting force # 2400 N Caom ?
Vertical components of cutting force = 240 N.
Calculate for the given data:
(i) Shear plane angle
(iii) Friction Angle

(ii) Chip thickness .
(iv) Resultant cuttmgfforce (08 Marks)

Module-5

Explain the different tool wear mechanisms. (08 Marks)
What is tool failure?/Explain the types of tool failures. (08 Marks)

OR'
What is. too] life? Explain the factors affectmg the tool life. (08 Marks)
The foUOng equation for tool life is given for a turning operation VAR = C gt
V ="30"m/min, f=0.30 mm/rev. éhd depth of cut d =2,5'mm. Calculate the change in tool
life if the cutting speed, feed depth of cut are in ‘{gg%s d by 25% indiyidually and also taken

0@»)

together. ‘ o~ R, (08 Marks)

* ok ok ok ok
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